
SAP ABAP table OIH_J_1BTREGX {Tax region}

OIH_J_1BTREGX

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

TXREG [CHAR (3)]

BLAND [CHAR (3)]

J_1BTREGX

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

TXREG [CHAR (3)]

 OIH_J_1BTREGX-TXREG = J_1BTREGX-TXREG 
0..N

1

T000

MANDT [CLNT (3)]
 OIH_J_1BTREGX-MANDT = T000-MANDT 

0..N

1
T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 OIH_J_1BTREGX-LAND1 = T005-LAND1 

0..N

1

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 OIH_J_1BTREGX-BLAND = T005S-BLAND 

0..N

1


